
Elimination Followed by Anti-elimination 

Quiz: Elimination converts the system 

. 
x = 6x + 5y 
. 
y = x + 2y


.. .

to the ODE x − 8x + 7x = 0. 

What is the coefficient matrix of the system that anti-elimination con­
verts it back to? 

Think about your answer and then look at the choices. 



MIT OpenCourseWare
http://ocw.mit.edu 

18.03SC Differential Equations�� 
Fall 2011 �� 

For information about citing these materials or our Terms of Use, visit: http://ocw.mit.edu/terms. 

http://ocw.mit.edu
http://ocw.mit.edu/terms



